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��� 2  ���� 14  
��  K  =  2
�������    lH2(g) + I2(g) 2HI(g)

[�����]  3  2  0  mol/dm3

[�%�
��&]  1  1  2  mol/dm3

[���'�]  2  1  2  mol/dm3

 
��K = [HI]
[H2][I2] = 2

2 ⋅ 1 = 2

��� 3  ���� 14  
��  K  =  71.12
������� X      l Y  +  2Z

[�����]  50  0  0  mol/dm3

[�%�
��&]  9  9  18  mol/dm3

[���'�]  41  9  18  mol/dm3

  
��  K = 9 ⋅18
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= 71.12
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 A  +     B             2C
[�����]  1  1  0  mol/dm3

[�%�
��&]  0.2  0.2  0.4   mol/dm3

[���'�]  0.8  0.8  0.4   mol/dm3
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��� 5  ���� 15  
��  [H2] = 0.5 mol/dm3

[I2] = 0.5 mol/dm3

[HI] = 3.0 mol/dm3

�������      l 2HIH2 + I2

[�����]  2  2  0  mol/dm3

[�%�
��&]  X  X  2X  mol/dm3

[���'�]        2X    2 − X 2 − X mol/dm3

=  K = (2X)2

(2−X)2
36 = 62

  =  62X

2−X

∴ X  =  1.5
@  ������� !"#$  


��[H2] = [I2] = 2 − X = 2 − 1.5 = 0.5 mol/dm3


��[HI] = 2X = 2(1.5) = 3.0 mol/dm3
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�������     2NaHCO3(s) Na2CO3(s) + CO2(g) + H2O(g)

[�����] 0   0  mol/dm3

[�%�
��&]   2X  X  X  X  mol/dm3

[���'�] X  X    mol/dm3

K  =  X ⋅ X = X2 = 0.04

∴ X = 0.2
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��  K  =  9
�������    l   H2(g) + I2(g) 2HI(g)

[�����]  0  0  100   mol/dm3

[�%�
��&]  20  20  40  mol/dm3

[���'�]  20  20  60  mol/dm3

  
��K = 602

20× 20
= 9

��� 108  ���� 17  
��  16  mol
�������   l   2SO2 + O2 2SO3

[�����]  0  0  X  mol/dm3

[�%�
��&]  4  2  4  mol/dm3

[���'�]  4  2     X − 4 mol/dm3

K  =  =  4.5(X − 4)2

42 ⋅2

=  (X − 4)2

42
4.5 × 2 = 9 = 32

  =  3X − 4
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∴ X  =  16 mol/dm3
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